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'HQJDQ�PHQ\HEXW�QDPD�DOODK�\DQJ�PDKD�SHQJDVLK�ODJL�PDKD�

SHQ\D\DQJ�

6D\D�SHUVHPEDKNDQ�7XJDV�$NKLU�LQL�XQWXN�VHPXD�RUDQJ�\DQJ�VD\D�

KRUPDWL�GDQ�VD\DQJL�

8QWXN�NHGXD�RUDQJ�WXD��D\DK�GDQ�LEX�\DQJ�VHODOX�PHQ\D\DQJL�

GHQJDQ�SHQXK�NDVLK�VD\DQJ��.HPXGLDQ�XQWXN�DGLN�VD\D�\DQJ�

VHODOX�PHPEHUL�VHPDQJDW��7HULPDNDVLK�NDUHQD�VHODOX�

PHPEHULNDQ�GXNXQJDQ�EDLN�VHQDQJ�PDXSXQ�VXVDK�

8QWXN�.HGXD�GRVHQ�SHPELPELQJ��EX�PDULQD�GDQ�SD�ODOX�

WHULPDNDVLK�NDUHQD�WHODK�PHPELPELQJ�VD\D�VHODPD�SHQJHUMDDQ�

WXJDV�DNKLU�LQL��GDQ�WHULPDNDVLK�NDUHQD�VHODOX�PHPEHULNDQ�

DUDKDQ��\DQJ�PHPEDQWX�GDODP�SHQJHUMDDQ�WXJDV�DNKLU�LQL�VHUWD�

VHODOX�PHPEHUL�VHPDQJDW�GDODP�SHQJHUMDDQQ\D�

'DQ�WHULPDNDVLK�MXJD�NHSDGD�NHORPSRN�SUDNWLNXP��\DQJ�VHODOX�

PHPEHULNDQ�VHPDQJDW�VHUWD�VHULQJ�PHQDQ\DNDQ�NDEDU��GDQ�

NHSDGD�WHPDQ�VHNHORPSRN�WXJDV�DNKLU�D\X�GDQ�JLWD�\DQJ�VHODOX�

DGD�GDODP�VHQDQJ�PDXSXQ�VHGLK��VHUWD�VDOLQJ�PHPEHUL�PDVXNDQ�

EHUVDPD�GDODP�PHQJHUMDNDQ�WXJDV�DNKLU


